Linear Equations in Two Unknowns

Solution

(2) = (1):
2y =10
y=3
Sub y = 5 into (2),
2x—3(5) =15
x =15

.. The solution is x = 15, y = 5.

Sub (3) into (2),

25-2)+y+7=5
10—4y+y+7=5
y=4
Sub y =4 into (3),
x=5-2(4)=-3

.. The solution is x = —3, y =4.

9x—4y+1=0...... (1)
2y+3x+2=0...... (2)
(1), 9x — 4y =-1
+(2) X2,6x + 4y = —4
15x = =5

. _ 1
-3

Sub x =—% into (2),

1 —_—
3[—3]"' 2}’ =-2
1
}’__5

.. The solution is x =—%, y=—

[T

), 8 + 5t = —1

—(1), 8 — 3t =7
2 =) 8 = —8
t =—1

Sub t =—1into (1),

8s—3(=1)=7
8s+3=7
_1

573

.". The solution is s = %, t=—1.

DR o=

(1) x3:§—y= 12...... 3)
(3) - @
—2y=38

y=—4
Sub y = —4into (2),
X
5+ (—4)=4

x=16

.. The solution is x =16, y = —4.

©2020 SO-IN Education Management Services Ltd.




